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INSTRUCTIONS TO CANDIDATES
Section A (30 marks) Time: 45 minutes

1. Answer all the questions in this section.

2. Calculators may not be used in this section.

3. All working must be clearly shown. Omission of essential working will result in loss of marks.
4. The marks for each question is shown in brackets [ 1at the end of each question.

1 In the diagram ABCD is a thombus. Given that AE = EC and ADFE = 51°, calculate

(a) BAE, b
M) ABC.
51°
A } & } C
B
Answer (@) BAE = oo, © [1]
(BYABC = e ® [1]
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"2 In the diagram ABC is parallel to DEF, GAB = 18°, ABB = 67° and GBC = 50°.

Calculate
(a) BEF, |
(b) AGB, |
(6) EAB.
ige S
A . — e
67°
b E »——F
é
Answer (a) BEF = ... ceeee @ 1] !
(5) AGB = oo © [1] i €7

(¢} EAB = oo, © [1]

T S

3 Inthe diagram, BCDE is a kite. AB is parallel to CE, CA = CB, ACB = 82° and CDE = 47°.

Calculate '

(a) A§C, A > 8 ]

(b) CBE, A e

(¢) BCD. R g U

¢ )" i i ‘-: |
47° |
D
Answer (a) ABC = oo, RN
(b) CBE = ..ovurevrrsrerssessans ° 1] i

(¢) BCD = oo, © [1]
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4 In the cIfagram AC is parallel to DE, ADB

FDE = 9°. Find the values of X,y and z

S In the diagram PT is parallel to OR, OP = QS, SPT = 48° and SOR = 18°.
(a) Calculate
@ PRO,
() RST,
(iii) QPR.
(b) Explain why triangle POR is isosceles.
Q
Answer (a} (i) P}’?\Q = s 0 1]
(i) RST = oo, © [1]
(it}) OPR = cccoovrrccenn. © {1]
(B) ettt oo e vervesessnnnnnns [1]
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6 In the diagram AB is parallel to CDEF, ED = EH = HF, ABD = 41° and GDH = 106°. Find the I
values of x, y and z. ' :

A

ANSWEE X = iivveviinveenrcreenesiisssssasnrassirsens

7 Inthe diagram PQRS is a parallelogram. PQ is parallel to UT, UQT: 40° and USR =73°. RS v,
PUS and QTR are straight lines, ;

Calculate |4
(a) PQU,
®) 017,
(e) UVS. P _ U :
73°
40°
Q T R
Answer (a) PQU T ivereeeerereenerenns ° 1]
(b) QTU =..... R ¥ 1
() UVS = vovvreeeereeenseron ° 1]
169

Test 14: Angle Properties of Triangles and Quadrilaterals

<
rri

i

L

14




-~

8  Construct a rhombus whose diagonals are of lengths 10 cm and 14 cm respectively. Measure the
length of one side of the thombus.
t Answer 21 _ -_’_5’{
p
|
il
y
H
s
¢
r:: i
= €
-G
s
7] :
.
N
Answer Length = ... em [1]
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the length of PR.

]
|
9  Construct a parallelogram PQRS such that PQ = 10 cm, QR = 6.5 cm and POR = 105°, Measure i
!
|
I

[2]

Answer

VIR VR, e

WL WD PL
-
N

Answer PR= .ccviiveicinnecne v CI3 1]
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10 Construct a triangle ABC such that AB = 9 cm, ABC =720 and BAC = 65°, Measure and write

down the length of AC.
Answer (2)
Answer AC = .....cooveeeveevevenn CI f1]
172 Test 14: Angle Properties of Triangles and Quadrilaterals




INSTRUCTIONS TO CANDIDATES

Section B (30 marks) Tjme: 45 minutes

L. Answer all the questions in this section.

2. Calculators may be used in this section.

3. All working must be clearly shown. Omission of essential working will result in loss of marks
4. The marks for each question is shown in brackets [ ] at the end of each question.

11 (a) In the diagram, AB = AC = BD. Express y in terms of x.

B 5 c
(b) In the diagram ABCD, CJG and EFGH are straight lines. AD is parallel to EH and BF is oot
parallel to CG. Calculate the values of p, g and 7. ;
. c

G H
Answer (@) ¥ = .o reeraerenrieeens [2]
(B)P = reveeearasas
7 = T
TS eriieeene e e e vveeerns 3]
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12 (a) In the diagram QR is parallel to ST and SUis  © 1:

parallel to TP. PQU, QWR, UVR and PWVT are
straight lines and PQU is perpendicular to OWR.
Given that QPW =39° and QRU = 32°, calculate
Gy PTs,

() UST,

) (i) UPw,

| ) SO,

(b} The ratio of p : g=2:3andg:r=6:5,
Find the value of p.

AR
=100 NN T

-

Answer (a) G) PTS= ... s ® (1]
(i) UST = oo, o1

Gi)) UPW = oo 0 [1]

(V) STV = . ° [1]

BID= oo, N [2]
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13 In the diagram, ABCD is a parallelogram and CEFG is a rhombus BAG 98°, ABG 25°,
CDH = 51° and CEF = 80°. Calculate
{a) GBC,
®m BGC,
(¢) GCD,
(d) DFC,
(e) CHE.

Answer (a) GBC = oo, °[1]
(5) BGC = v, °[1]
(¢) GED = .oovmereerermrie. ° 1]
(d) DFC % °[1]
(€) CHE S vevrveeeeress .. °[2]
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14 (a) Construct a triangle ABC such that AR = 9.6 cm, BC=8.7 cm and AC = 9.1 cm, Measure
and write down the size of the smallest angle, '
(b) On the same diagram -
() construct the angle bisector of BAC,
(i) construct the angle bisector of AéB, )
(iii} mark down with the letter P, the point of intersection of the two angle bisectors.
Measure and write down the length of BP.

\.n
AN

VARSI L
3
b

U

tAY
G

M SY3uepe

-

- v yTRINY

W

Answer (a), (b) (), (ii), (iii) [4]
Answer (a) Smallest angle = ......cooeener, © [1]
(B)BP =........... trrernreeriaans wecm [1]
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15 (a) Construct _a'quadrﬂateral PORS such that PO = 7.8 cm, PR = 124 ¢cm, PS = 9.5 cm,
RS =115 cm and PQR = 106°. Measure and write down the size of PSR,
(b) On the same diagram, constiuct
(i) the perpendicular bisector of the line RS,
(ii) the angle bisector of PSR.
Mark down the point 7, where these two lines meet. Measure and write down the length of
ST. '
Answer (a), (b), (i), (i) 7 7 I5]
e B
]
2
el
tl Answer (a) PSR = e, R §
i - : ' (0) ST = ivoveerveersenseenne € [1]
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= [R0° —~ 51° — 9Q°
=39°

by ABC = ADC

=2x%51°
=102°
G
323
A 187 £ ¢
67°

(@) BEF =50° (cor. £s, AC I DF)
(b) AGB +18°= 50° (ext £ = sum of int. opp. £s)
AGB = 50°~ 18° = 32°
(c) EAB + AEF = 180° (int. Zs, AC /i DF)
EAB + 67° + 50° = 180°
EAB = 180° - 67° .- 50°

n

Worked Solutions to Test Papers




(@) ABC =(180° - 82%) + 2 (base /s of isos. A)
=08°+2
= 40°
(by BCE =49° (alt. /s, AB // CE)
BEC = BCE = 49° (base £s of isos. A)
CBE = 180° — 49° — 49° (£ sum of A)
= §2°
Alternative method;
CBF = 180° - 49° — 90° (£ sum of A)
=4
CBE =2 x41°
=82°
(¢} DCE = (180° — 47°) + 2 (base /s of isos. A)
=133°+2
o
= 66

BED = 49° + 66%°
= 115.5°

4. x°=68°+27° (ext. Z = sum of int. opp. /)

=95°
Sa=095
BED = 180° - 95° _. 49° (£ sum of A)

= 36°
O° + 36 + 69° = 180° (int. £s, AC /f DE)
¥° = 180° - 36° — 69°
=75°
Ly=T5

2%+ 9% = 36° (alt. £5, AC Y/ DE)

ZO = 360 - 90

=27°
sz =27

Worked Solutions to Test Papers

(@) (i) PRQ=48°(alt. Zs, PT/ OR)
(i) RST =18°+ 48° (ext. 2 = sum of
= 66° int. opp. /.5)
(i) OPR = Q8P (base /.5 of isos. A)
= RST (vert. opp. £5)
= 66°
(b) POR = 180° — 66° — 48° (£ sum of A)
= 66°
Since PQR = QﬁR = 66°, APQR is isosceles.

BDE = 41° (alt.£s, AB /I CF)
x° = 41° (vert. opp. £5) H
Sox=d4l

y* = EDH (base /s of isos. A)
= 180° — 106° - 41° (adj. ~s on a str. line)
= 33°
S y=33

HEF =33° 4. 33° {ext. £ = sum of int. opp. /.5)
= 66°
EFH = HEF = 66° (base /s of isos. A)
2° = 180° — 66° - 66° (£ sum of A)

= 48°
Sz =48
1%
P Lt
332 N
400 107
[¢] o T
(2) POU +40°=73°
POU = 33° :
() QTU = 180° — (33° + 40°) (int. /s, PQ /I UT)
= 107°

(©) UVS=33°(alt. Zs, PQ I/ VR)




L 8. Length=8.6 cm

|

N

i4cm

10cm

LECE 2996 Wi
UOWOL WD

R AR, v S L S RS e v e =
CTHY BIDUIDRY YL Y/ LQT WG

uc{m% gtgpsq,,;?;.-, s
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9. PR=1325cm

[0cm

6.5cm

6.5cm

1052

Worked Solutions to Test Papers

10cm
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11, (@) A

1867~ 2x°

287

1

BAD = x° (base /s of isos. A)
180° — x° — x° (£ sum of A)
180° — 2x° :
ACD = ABD = 180° - 22° (base s of isos, A)
ADB = DAC + ACD (ext, £ = sum of int. opp. Z.5)
X°= 04 (180° — 2x°)
x=y+180-2x
¥ =3x ~ 180

ADB
ABD

il

1t

Warked Solutions to Test Papers




(p+3p)° +2p° =120° (ext. 2 = sum of int.

6p =120 opp. 2.8)
= 120 _
p=== 20
q° = 2p° (alt. Zs, AD I/ EH)
=2x%20°
= 40°
sog=40

JGH = BEG (corr. /s, BF Il CG)
= 180° — (3p° + ¢°) (int, Z5, AD // EH)
= 180° - 3(20°) — 40°
= 8(°
¥ = 80° + 38° (ext, /.5 = sum of int. opp. £8)
=118°
sor=118

2.

Y

s T

() PTS = PWQ (com. Zs, OR If ST)
= 180° — 90° — 39° (£ sum of A)
=51°

(i) UST = 180° - 51° (int, Zs, SU #/ TV)
=129°

Waorked Solutions to Test Papers

(iil) VWR = 51° (vert. opp. £s)
UVW = 51° +32° (ext. /. = sum of int.
= 83° opp. Z.s)

(iv) SUV = 83° (alt. £s, SU I/ TP)

HY 3

b p:
2

Oh Wy

]
4:6:5

4+ 6+ 5= 15 units
15 units — 180°

. 180° °
1 unit — ? 12
4 units — 4 x 12 = 48°
pO = 480
sp=48

(8) GBC +25° = 180° - 98° (int. Zs, AD /f BC)
GBC =57°

() BEG = 80° (com. Zs, CG I/ EF)
BGC = 180° — 57° - 80° (£ sum of A)
= 43°

© GED 4 80° = 9g°
GED = 18°

(d) FCE = (180° - 80°) + 2 (base ~s of isos, A)
= 50°
DFC = 50° (alt. s, AF /i BF)

(e) HDF + 51°=98° (corr. /s, AB /I DC)
HDF = 47°
CHE = DEF {vert. opp. 2.5)
= 180° — 47° - 50° (£ sum of A)
= 83° :




14, (a), (b)

R

uonmy W0

LEET 9000

{b) BP=53 cm

e CA R S AL e e L ST

DN BABURTITD LR LVOT TG

(a) Smallest angle = BAC

= 55.5°

Worked Soluwtions to Test Papers




13, (), (0)

1l.5cm

9.5 cm

P / 7.8 cm a

(a) PSR =71.5°
(b ST=7.1cm




